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=] Xig | [R | KB |& E| pH [FILAY BEE | BF |BtY| & 8 & =
E REW | 1A HY
°C °C |4 mg/ | mg/ | mg/ | mg/ | mg/ | mg/ |
1 [55] 19.8| 14.8 1.0 7.60
2 i 17.0 14.0 1.2| 17.65
3 i 22.00 13.8 0.8 7.68
4 & 21.8| 13.8 0.9 7.67
5 i 22.00 14.0 0.9 7.66
6 E 20.0/ 14.0 1.3 7.68
7 [55] 18.0| 14.5 1.0 7.60[ 40.1 38.6 134 6.3| 0.06] <0.02
8 i 20.5| 14.6 0.9 7.68
9 = 13.7| 13.8 0.8 7.62
10 & 21.0  12.7 0.9 7.84
11 i 20.2| 14.0 0.4 7.70
12 £ 20.3] 14.0 0.9 7.73
13 [55] 19.7] 157 13.0/ 7.54
14 £ 17.5] 14.4 2.4 1.72
15 i 24.00 13.8 0.8/ 7.76
16 [55] 17.3]  15.0 1.0 7.70
17 i 23.0] 13.5 0.9 7.82
18 i 25.5|  14.0 0.6f 7.72
19 = 19.0| 14.0 0.7| 7.68
20 i 20.6| 14.8 13.5| 7.59] 33.4 33.7 123 4.4 0.57] <0.02
21 i 25.00 14.7 1.5  7.70
22 £ 22.00 15.2 0.6f 7.72
23 = 20.0 14.7 1.0 7.66
24 £ 22.5| 14.6 1.0 7.72
25 = 22.2|  14.7 0.9 7.70
26 £ 21.6| 14.5 0.8/ 17.70
217 [55] 18.8| 15.0 0.5| 7.72
28 [55] 21.2| 15.0 0.1 7.58
29 = 20.3| 16.0 25.4| 7.53
30 i 25.7| 15.0 2.1 7.68
31 [55] 18.2| 15.0 1.3 7.64
Ty 20.7 | 14.4 26 | 7.68| 36.8| 36.2 129 54| 0.32 | <0.02
4= 25.7| 16.0 25.4 | 7.84 | 40.1 38.6 134 6.3 | 0.57 | <0.02
=IE 13.7 | 12.1 0.1 7.53 | 33.4| 33.7 123 4.4 | 0.06 | <0.02




